DO NOW

List the perimeter formulas for a:
triangle:
rectangle:

square:

1. The length of a rectangle is 3 m more than 5 times the width.
The perimeter is 126 m. Find the length and width.
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3. Aside of a square is 3 meters longer than the side of an
equilateral triangle. The perimeter of the square is 2 times
the perimeter of the triangle. Find the length of each side
of the triangle.
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2.1 Perimeter Word Problems

Follow the same steps as earlier word problems...

This time - in the set up, you will need to choose
the appropriate formula to use.
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2. The first side of a triangle is 3 ¢cm longer than the second side.
The third side is 4 cm shorter than twice the length of the
second side. If the perimeter is 31 cm, find the length of each
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